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B’ kA= {ZELHEAHR), B={A—1THR—-1BH).
(L ZVH—TEBREBR N

= {2 pias s gl 9. o9
Bt = 1= BB = 0aau X o =

2) H—ER—RERIER N

_ 9 9,37 _1
P(B) = 33X 13 T127°12~ 21

25. & A,B JBEHL =4, P(A)=0. 92, P(B)=0. 93, P(B|A)=0. 85,3k P(A|B),

P(AUB).
— _P(AB) _P(B)—P(AB) _0,93—P(AB) _
B PBIA=p ="1-paAy — o0 08
il P(AB)=0.25
— _P(AB) _P(A)—P(AB)_0.92—0.862_
i PAIBD="TpE =" 1pmB  —  0.07 0. 83
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P(AUB)=P(B)+P(A)—P(AB)=0. 92+0. 93—0. 862=0, 988
26. &= A,BHEM, H P(A)=0.5,P(AUB)=0.8, 3k P(AB),P(AUB).
8 BT ABMHEM,H

P(AB) =P(AXP(B)P(A U B) =P(B) + P(A) — P(AB)
=P(B) +P(A) —P(A)P(B) = 0.8

0.8—0.5 _

P(B) = 1—0.5

0.6

B LA P(AB)=P(A)—P(AB)=0.5—0. 5X0. 6=0. 2
P(AUB)=P(AB)=1—0.5X0. 6=0. 7

27. # P(A)=0.4, PCAUB)=0.7 ,ZE FHIEMTF .3k P(B) .



(1) # A,BERHE;
(2) % A,BHEM;
(3)%& ACB.
& (L AB=J 18 P(AB)=0,hnkAR, 5
' P(AUB) =P(B)+P(A) =0.7
P(B)=0.3
(2) F A, BMEM A
P(AB) = P(A)P(B)
P(A U B) =P(B) + P(A) — P(AB)
=P(B) + P(A) — P(A)P(B) = 0.7

O.T—=P(AS > 0.9=0.4"

Pl e Py 5 16 P

(3) B FACB, &
P(AUB)=P(B) =0.7

28. P(A)=P(B)=P(C)=%, A,B,C ME M,k A, B,C B HB—/
L.
P(AU B C) =1— P@ABO)

8 _ 19

=1—PA)PB)P(C)= 1—-27 =57

29. # P(B|A)=P(B|A),ifiF# . 54 A 5 B HE M.
if #F PB|A=PB|A),.A

P(AB) _ P(AB) _ P(B) — P(AB)

BeA) - PRA) 1) 1 —BEA)
| (1—P(A))P(AB)=P(A) (P(B)—P(AB))
38 P(AB)=P(A)P(B)

FTEL, S+ A 5 B AHE Y.
30. WHF A5 B MEM,IEH A 5B MHEMIT.
iE #F A.BMEM,H
P(AB) = P(A)P(B)
FiT A
P(AB)=P(B)— P(AB)= (1 — P(B)) — (P(A) — P(A)P(B))
=(1—P(B)) (1—P(A))= P(A)P(B) :
11



